A charge of 240 coulombs passes through a metal wire in 2.0 minutes. The potential
difference across the ends of the wire is 10.0 V ,T \
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What is the intensity of the electric current passing through the wire? S
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A voltage of 5.0 V is applied to the ends of a metal wire. An electric current of 6.0 A = I
flows in the wire.
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What is the quantlty of electric chargg\whlch crosses a section S of this wire m@w

seconds? —_— ¥
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When a voltage of 8.0V is applied to the ends of a metal wire, an electric current of
4.0 A flows in the wire.
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How ngany e!ectrons pass through section S of the W|re|4n;1 minute?
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C) 2.0 x 10? electrons

D) 1.5x 10% electrons

The diagram below shows an electric fuse.
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What is the function of the glass and the plastic? -
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An electron is located 1.00x10*° m to the right of another electron. (/f, !ﬁ a i
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What is the force on the first electron from the second electron? 1,/‘.;\

What if these are protons instead?
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